X4y =3y = XD

-—

3 =4 (X0, ¢)

\/z/

3'(:71[[\(/4) e

=7 Dwn Sole o ODE W)
_é@. ')'(:—fl-)((’ ¥ 2 ol
Y, > -3 v {
307~z 7
(|
34

:[U.g—”* = )221«306
0 =30 e

o Y, ¥ are  Sobes  O4 X =-%

e Jud H oof Sobu

10,



Obe Y 1.¢. = T.vp 9)
X =-3x , ¥ =1

X = £,~;+ = - p?
/ ~> X, (0) = 4 :ﬁ_-::?faﬂ,
lo Tvp

o =34
o= LU 277 =>%, (0)210F | =5 WMod
a §

\sAd ol Livesr  0Opo

——

att) X Y bxa)=cC [(4)

a- ¥ yYbx=¢
Y Yeys iy =%, u-¢;,
|1F
X[") -')ft( ’t"l f
Yo +€ Z”’o{[-l ) Ay



uU=-0 ¥X= évb'{'Xu

y . STAR LE
o \L 70 0

Yo

0 Y20 *__/ U STABLE
Xo -
YOL\







